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QUESTION NO: 1

What are two characteristics of a Software Defined Networking (SDN) solution? (Choose two.)
A. It allows workloads to be placed and migrated anywhere in the network.

B. It is dependent on the underlying physical routers and switches.

C. Itis decoupled from the physical networking infrastructure.

D. It contributes to layer 2 network sprawl.

E. It restricts the placements of virtual machines and containers.

ANSWER: AC

Explanation:

Reference: https://www.vmware.com/topics/glossary/content/software-defined-networking

QUESTION NO: 2

Which plane is responsible for creating and deleting network objects in the NSX-T Data Center Architecture?
A. Control Plane

B. Data Plane

C. Life Cycle Plane

D. Management Plane

ANSWER: D

QUESTION NO: 3

Which plane in the NSX-T Data Center Architecture is used to create, read, update, and delete (CRUD) operations?
A. Local Control Plane (LCP)

B. Management Plane

C. Data Plane

D. Central Control Plane (CCP)
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ANSWER: B

Explanation:

Reference: https://docs.vmware.com/en/VMware-NSX-Data-Center-for-
vSphere/6.4/com.vmware.nsx.troubleshooting.doc/GUID-88BA25EC-126B-41EE-9F06-BD6235C9EC77.html

QUESTION NO: 4

Which component needs to be available for the ESXi hosts to be able to enable vSphere High Availability?
A. 10Gbps network interfaces

B. Direct attached disks

C. Shared data storage

D. Dual CPU sockets

ANSWER: C

Explanation:

Reference: https://www.vladan.fr/how-to-configure-vmware-high-availability-ha-cluster/

QUESTION NO: 5

Which two statements are true about N-VDS/VDS? (Choose two.)

A. KVM hosts support both N-VDS and VDS.

B. It is a module deployed in all transport nodes that provides L2 functionality.
C. It is a module deployed in all transport nodes that provides L3 functionality.
D. ESXi hosts support both N-VDS and VDS.

E. Bare-metal servers support both N-VDS and VDS.

ANSWER: CD

Explanation:

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.3/com.vmware.nsxt.install.doc/GUID-F47989B2-
2B9D-4214-B3BA-5DDF66A1BOE6.html
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